
 

 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 



 
 
 

2 | 
 

 
 
 
 

 
 

 
 
 
 

 
 

 
 
 



 
 
 

3 | 
 

 

 

 
 
 

 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 

4 | 
 

 
 
 
 

A                               Quantity 
of  1 

 
 
 
 
 
 
 
 
Top Pane 

B                               Quantity 
of  1 

 
 
 
 
 
 
 
 
Left Side Panel 

C                             Quantity 
of  1 

 
 
 
 
 
 
 
 
Right Side Panel 

D                              Quantity 
of  1 

 
 
 
 
 
 
 
 
Left Vertical Panel 

E                                 Quantity 
of  1 

 
 
 
 
 
 
 
 
Right Vertical panel 

F                               Quantity 
of  1 

 
 
 
 
 
 
 
 
Bottom Panel 

G                               Quantity 
of  2 

 
 
 
 
 
 
 
 
Back Panel 

H                                Quantity 
of  1 

 
 
 
 
 
 
 
 
Middle Back Panel 

I1                               Quantity 
of  1 

 
 
 
 
 
 
 
 
Left Drawer Front Panel 

I2                               Quantity 
of  1 

 
 
 
 
 
 
 
 
 
Middle Drawer Front Panel 

I3                                 Quantity 
of  1 

 
 
 
 
 
 
 
 
 
Right Drawer Front Panel 

J1                              Quantity 
of  1 

 
 
 
 
 
 
 
 
 
Drawer Left Side Panel 

  



 
 
 

5 | 
 

 
 
 
 

J2                              Quantity 
of  1 

 
 
 
 
 
 
 
 
Drawer Left Side Panel 

J3                              Quantity 
of  1 

 
 
 
 
 
 
 
 
Drawer Left Side Panel 

K1                              Quantity 
of  1 

 
 
 
 
 
 
 
 
Drawer Right Side Panel 

K 2                             Quantity 
of  1 

 
 
 
 
 
 
 
 
Drawer Right Side Panel 

K3                             Quantity 
of  1 

 
 
 
 
 
 
 
 
Drawer Right Side Panel 

L                                Quantity 
of  3 

 
 
 
 
 
 
 
 
Drawer Back Panel 

M                               Quantity 
of  3 

 
 
 
 
 
 
 
 
Drawer Bottom Panel 

N                               Quantity 
of  3 

 
 
 
 
 
 
 
 
Adjustable shelf 

O                               Quantity 
of  3 

 
 
 
 
 
 
 
 
Door 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 

6 | 
 

 
 
 
 

1                              Quantity 
of 12 

 
 
 
 
 
 
 
 
Bolt               ø5/16”*1-3/16”L 

2                              Quantity 
of  12 

 
 
 
 
 
 
 
 
Flat washer        ø5/16”*3/4” 

3                           Quantity 
of  1 

 
 
 
 
 
 
 
 
Allen wrench       ø5/16”  

4                               Quantity 
of  22 

 

 
 
 
Screw              ø1/8”*9/16”L 

5                                Quantity 
of  24 

 
 
 
 
 
 
 
 
Cam Bolt 

6                              Quantity 
Of 24 

 
 
 
 
 
 
 
 
Cam lock 

7                               Quantity 
of  1 

 
 
 
 
 
 
 
 
Allen wrench        ø1/4” 

8                                Quantity 
of  6 

 
 
 
 
 
 
 
 
Knob 

9                              Quantity 
of 6 

 
 
 
 
 
 
 
 
Gaskets  ø1/4"*3/4"L 

10                            Quantity 
of  6 

 
 
 
 
 
 
 
 
 
Small bolt        ø5/32"*1"L 

11                                Quantity 
of  6 

 
 
 
 
 
 
 
 
 
Hinge 

12                              Quantity 
of 4 

 
 
 
 
 
 
 
 
 
Flat washer      ø1/4”*3/4”      

 



 
 
 

7 | 
 

 
 
 
 
 

13                             Quantity 
of  4 

 
 
 
 
 
 
 
 
 
Bolt                 ø1/4”*1”L 

14                                Quantity 
of  12 

 
 
 
 
 
 
 
 
 
Shelf pin 

15                              Quantity 
Of 2 

 
 
 
 
 
 
 
 
 
Anchor 

16                             Quantity 
of 38 

 
 
 
 
 
 
 
 
 
Screw              ø5/32”*9/16”L 

17                               Quantity 
of  2 

 
 
 
 
 
 
 
 
 
Screw       ø1/8"*1-3/8"L 

18                              Quantity 
of 2 

 
 
 
 
 
 
 
 
 
Tie 

19                            Quantity 
of  4 

 
 
 
 
 
 
 
 
 
Bracket 

20                               Quantity 
of  24 

 
 
 
 
 
 
 
 
 
Cover 

 

 
 
 
 
 
 
 

 



 
 
 

8 | 
 

 
 
 
 
  

Do not fully tighten screws until all screws are in 
position 

1

2

A
C

B

B

C

A



 
 
 

9 | 
 

 
 
   

3

4

A

A

D

E



 
 
 

10 | 
 

 
 
   

13

12

7

5 F

D

E



 
 
 

11 | 
 

 
 
 
 
 
 
 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

7

8

H
G

G



 
 
 

12 | 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

9

10

M

L

I1

I1

M

L

I2

I2



 
 
 

13 | 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Do not fully tighten screws until all 
screws are in position. 
 
No apriete completamente los tornillos 
hasta que estén en su posición. 
 
Ne serrez pas complètement les vis 
tant que toutes les vis ne sont pas en 
place. 

11

12

M

L

I3

I3

I1

I2

I3



 
 
 

14 | 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

13

14

O

O

O

11

16

11
16

Adjust this screw to balance
the gap of the door

11
16

O

O

8 9
10



 
 
 

15 | 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

15

16

N

N

N

Adjust this screw to balance
the gap of the door

11
16

O

89
10

14



 
 
 

16 | 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

17

18



 
 
 

17 | 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

16

19

20

19



 
 
 

18 | 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

21

22

19

19

19

19

10 LBS<

10 LBS<

10 LBS<

10 LBS<
20 LBS<

20 LBS<

85 LBS<



 
 
 

19 | 
 

 
  

23




